
20 40 60 80 100 120 140

−
3

−
2

−
1

0
1

2
3

Cluster: 0138 ptr; resid: 0.26; r/c: 24/74

x.range

upstream meme PSSM #1; e=1.2e+03

1 3 5 7 9 11 13 151 3 5 7 9 11 13

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=1.9e+04

1 3 5 7 9 111 3 5 7 9
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21922

22713140

36081

30514

23472
54289

13538

16537

18551
24792

31605

34922

36166

36179

43285

43406

43683

45212

47610

48756

49134

49783

52173

string −500 −400 −300 −200 −100 −1
34922NA
36166NA
36179NA

3140−0.83
21922−0.86
43285−0.97
52173−1.48
43683−1.62
36081−1.95
16537−2.25

2271−2.34
48756−2.43
49783−2.51
30514−2.60
47610−2.64
54289−2.74
49134−2.86
43406−3.00
23472−3.38
13538−3.43
45212−4.00
18551−4.04
31605−4.73
24792−4.91

log10(P) upstream meme1 2 log10(P.clust)=−2.65; 24 seqs; 22 uniq
c(0.5, 2.5)
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